Spill 1

Nord giver

Ingen i sonen
& A43
v 109
¢ KQJ8
& A987

O)

Lekgon 3 - sekvens

4 KQJ2
v A432
¢ 9765
&2

4 108

v KQJ5
¢ 1043
* QJ103



Spill 2
@st giver
N-Si sonen

Lekgon 3 - sekvens

& 1065

v QJ1062

¢ 84

& K32
o A74 N & KQJ2
vy K95 Vv & v A87
¢ A1032 S ¢ 97
& 854 & A1097

4 983

v 43

¢+ KQJ65

* QJ6



Spill 3
Syd giver
@-V i sonen

Lekgon 3 - sekvens

4 Q32

v A9

¢ QJ1062
& Q97

s A74

vy K43

¢ AB543

& K6
w4 1098

vy 762
M , k7

Sl , A J853

s KJ65

v QJ1085

¢ 9

& 1042



Lekgon 3 - sekvens

Spill 4 o K7543
Vest giver v53
Allei sonen ¢ K5
& A1086
&9 N 4 QJ1062
v QJ102 y @ v AK97
¢ A7432 s ¢ 86
& Q52 & 93
& A8
v 864
¢ QJ109

& KJ74



Spill 5
Nord giver
N-Si sonen

o KQJ2
vy K94
¢ 108
& K874

Lekgon 3 - sekvens

& A9S

v QJ103
¢ J743
& 32

N
Vv 1%}
S

& 10643
v 852
¢+ KQ95
& A5

& 87

vy A76

¢ A62

& QJ1096



Spill 6
@st giver
@-V i sonen

492

v A853
¢ 7632
* QJ10

Lekgon 3 - sekvens

o AS83

v QJ102

¢ K84

» 864

y N 5 :i0774
S ¢+ QJ109
& A975

& KQJ65

vy 964

¢ A5

& K32



Lekgon 3 - sekvens
Spill 7 4 Q76
Syd giver v QJ102
Allei sonen ¢ A653
& A3
& J10942 N & 83
v 974 v @ v K653
¢ 984 = ¢ QJi1o
& 87 & K542
& AK5S
v A8
¢ K72

# QJ1096



Spill 8
Vest giver
Ingen i sonen

Lekgon 3 - sekvens

o KQJ109
v 743

¢ AK

& QJ10

s 873
v 109862
¢ 654
& 42
o * A54
vKQJ
M, 9353
=Bl . 7086
462
vy A5
¢ 0J1072

& K753



